Steel Pull / Stainless Steel Pull / Aluminum Pull

UNF/UNFS/UNFA uzus wanr

SUSESH UNF-H-CR
UNFS [UNF-SH-CR]
A o TIRIE MATFSEFLR, M. RELE, URFCR
! RS S M. RELE UNF-CR. - 3
Rt e
! \ UNF-CR He37 oy
I UNES AR T -
i A il B H=37 R
i I I 5 TRy B4
I Il Il |
UNFA-BF i iy
L M R 525
L UNFA-BK H=37 EA
f=vEill
UNF-H-CR o o
o WSIETF ; =
B I
UNF-200SH-CR ONFSH R
\ A SEMIFRER 5
UNF-SH-CR Het0 i
A SEMIFRER T
‘UNF'2OOSH'CR "E UNFS-SH H-60 SRR ® MR, REALE O rovs
B UNF-CR/ UNF-H-CR/ UNF-SH-CR UNFS / UNFS-H / UNFS-SH UNFA-BF UNFA-BK
AR5 o M R AN AN AR (SUSXMT#I). 15E AR . $S330 SUS304 24 =R
ERBLHENRS (ARSI N, BECRESHERREM[-P]. SERES (BAR). ES e R B BEESR (THE)
STAvaT A
(B IRSS) SUSXM7 SUSXM7 SUSXM7 SUSXM7
(UNF-CRE:>:3.8 L I UNFS £33 IR & 1 S mm (UNF-H-CRF-1r2:!N TR UNFS-H F=tok 2 2 %6 mm
me me FEEE RLLHERIIRS ne nes BEREY B HE AR S
) R L 2 i b S 55 M (N) Fik(g) B R~ L TR L A H h L Lf M (N) i(g) BOR~
UNF-80-CR UNFS-80 80 10 37 27 90 10 M5 1000 76 M5x 12 UNF-80H-CR UNFS-80H 80 10 45 35 920 10 M5 1000 86 M5x 12
UNF-100-CR UNFS-100 100 10 37 27 110 10 M5 1000 88 M5x 12 UNF-100H-CR | UNFS-100H 100 10 45 85 110 10 M5 1000 98 M5x12
UNF-110-CR UNFS-110 110 10 37 27 120 10 M5 1000 95 M5x 12 UNF-110H-CR |UNFS-110H 110 10 45 35 120 10 M5 1000 105 M5x12
UNF-120-CR UNFS-120 120 10 37 27 130 10 M5 1000 101 M5 x 12 UNF-120H-CR | UNFS-120H 120 10 45 85 130 10 M5 1000 111 M5x 12
UNF-125-CR UNFS-125 125 10 37 27 135 10 M5 1000 103 M5x 12 UNF-125H-CR |UNFS-125H 125 10 45 35 135 10 M5 1000 113 M5x12
UNF-160-CR UNFS-160 160 10 & 27 170 10 M5 1000 125 M5 x 12 UNF-160H-CR | UNFS-160H 160 10 45 B8b 170 10 M5 1000 135 M5x 12
UNF-200-CR UNFS-200 200 10 37 27 210 10 M5 1000 150 M5x 12 UNF-200H-CR | UNFS-200H 200 10 45 35 210 10 M5 1000 160 M5x 12
UNF-250-CR UNFS-250 250 10 37 27 260 10 M5 1000 180 M5x 12 UNF-250H-CR  UNFS-250H 250 10 45 85 260 10 M5 1000 190 M5x 12
x1: FRNNETEH. *1: FRANNETSE.
LUNFA-BF £20:3: SN =L RY:- o0 UNFA-BKE Y 25N =L R L &6 mm LUNE-SH-CRESE=SI2Y Lo-2: N ETI UNFS-SHES 2SI 2V o-2: R v 2 S mm
e BEEEY IRLLHHRIRS me ne BEEE o B IR S
s L1 A H h L Lf M ) BRE(9) et o i L1 A H h L Lf M o) RE(g) Pyt
UNFA-80-BF 80 10 37 27 90 10 M5 1000 27 M5x 12 UNF-80SH-CR UNFS-80SH 80 10 60 50 90 10 M5 1000 105 M5x 12
UNFA-100-BF 100 10 37 27 110 10 M5 1000 31 M5x12 UNF-100SH-CR | UNFS-100SH 100 10 60 50 110 10 M5 1000 117 M5x 12
UNFA-110-BF 110 10 37 27 120 10 M5 1000 33 M5x 12 UNF-110SH-CR |UNFS-110SH 110 10 60 50 120 10 M5 1000 123 M5x 12
UNFA-120-BF 120 10 37 27 130 10 M5 1000 35) M5x 12 UNF-120SH-CR UNFS-120SH 120 10 60 50 130 10 M5 1000 129 M5x 12
UNFA-125-BF 125 10 37 27 135 10 M5 1000 36 M5x12 UNF-125SH-CR |UNFS-125SH 125 10 60 50 135 10 M5 1000 132 M5x12
UNFA-160-BF 160 10 37 27 170 10 M5 1000 44 M5x 12 UNF-160SH-CR |UNFS-160SH 160 10 60 50 170 10 M5 1000 153 M5x 12
UNFA-80-BK 80 10 37 27 90 10 M5 1000 27 M5x 12 UNF-200SH-CR |UNFS-200SH 200 10 60 50 210 10 M5 1000 178 M5x 12
UNFA-100-BK 100 10 817 27 110 10 M5 1000 31 M5x12 UNF-250SH-CR | UNFS-250SH 250 10 60 50 260 10 M5 1000 208 M5x 12
UNFA-110-BK |110 10 37 27 120 10 M5 1000 33 M5x 12 *1: FERNETEEE.
UNFA-120-BK 120 10 37 27 130 10 M5 1000 35) M5x 12
UNFA-125-BK 125 10 37 27 135 10 M5 1000 36 M5x 12
UNFA-160-BK 160 10 217 27 170 10 M5 1000 44 M5x 12
*1: FRNNBTEE.
TV TLBEE - T E5E = Pxxxx & HHZIED = Pxxxx
L ATH MG S BHR, BRBT AT H R R ER S B %, BADT

N\ NBK 0512-5290-1560 info@nbk1560-chn.com.cn https://www.nbk1560-chn.com.cn/ N\ NBK 0512-5290-1560 info@nbk1560-chn.com.cn https://www.nbk1560-chn.com.cn/



